NPN

SILICON

H8050

TRANSISTOR

SS8050

B 2W
B T,=25
TO-92
Tstg—— -55~150
T—— 150
Po—— 1w
Vcego—— — 40V 1— E
2— B

Vceo—— — 25V 3 c
Vego—— — 6V
lc—— 1.5A
B T.=25
IcBo — 0.1 M A | Vee=35V, Ie=0
{J=00) — 0.1 M A | Ves=6V, Ic=0
HFE 85 500 Vee=1V, 1c=100mA

40 Vce=1V, 1c=800mA
V/BE(ON) — 1 v Vee=1V, 1c=10mA
V/CE(sat — 0.5 V 1c=800mA, 18=80mA
V/BE(sat) — 1.2 v 1c=800mA  18=80mA
BVcBo — 40 \% 1c=100p A 1e=0
BVceo — 25 v Ic=2mA 18=0
BVEBo — 6 \% 1E=100p A 1c=0
T 100 MHz | Vce=10V, Ic=50mA

B C D E
85—160 120—200 160—300 270—500
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